
Participant Number:  _____ 
Olympiáda v anglickom jazyku, 33. ročník, okresné kolo 2022/2023, kategória 2D – úlohy 

G R A M M A R 

Complete the text with the correct form of the verbs in brackets.  Write the correct form in the 

space provided.  

My name is Huckleberry Finn.  You don’t know about me, unless you (1)………………..(read) a book by 

the name of The Adventures of Sawyer, but it ain’t no matter.  That book (2)………………..(write) by 

Mark Twain, and he (3)………………..(tell) the truth, mainly. 

Now the way that the book (4)………………..(wind up) is this:  Tom and I (5)………………..(find) the 

money that the robbers (6)………………..(hide) in the cave, and it (7)………………..(make) us rich.  We 

(8)………………..(get) six thousand dollars apiece – all gold.  It was an awful sight of money when it 

(9)………………..(pile up).  Well, Judge Thatcher, he (10)………………..(take) it and put it out at interest, 

and it (11)………………..(fetch) us a dollar a day apiece, all the year round – more  than a body could 

tell what to do with. 

The Widow Douglas, she (12)………………..(take) me for her son and (13)………………..(think) she 

would civilize me, but it was rough living in her house.  So when I couldn’t stand it no longer, I 

(14)………………..(take off).  But Tom Sawyer, he hunted me up and said we was going to start a band 

of robbers.  So I (15)………………..(go) back. 

 

 

(Mark Twain: The Adventures of Huckleberry Finn, adapted) 

 

 

Total points: …………./15 pts 
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VOCABULARY 

Read the article below.  Use the word given in CAPITALS to form a word that fits in the space.  

Write your answers in the spaces provided. 

Learning Styles 

Some students learn in a different way from others and so need to be taught in a way that makes it 

easy for them to learn.  That is the reason experts …1… between …2… learning styles.  Where their 

preferred learning …3… are not provided, students may perform less well and therefore …4… be 

assumed to be underachieving through lack of …5….  The three most …6… recognized categories of 

learning styles are visual, auditory, and kinaesthetic.  The …7… of people are visual learners, who use 

…8… their sight to gather information.  They cope well in lessons with lots of …9…, pictorial, and 

diagrammatic styles of …10….  Visual learners struggle where there is an …11… on giving information 

orally.  Auditory learners prefer …12… …13… to expand on any graphical information presented to 

them.  The use of …14… aids can be as …15… as the teacher’s voice.  Kinaesthetic learners prefer to 

learn through …16….  They enjoy movement and …17….  Most people possess elements of all three 

learning styles.  The teacher’s understanding of the different learning styles of his students fosters 

…18…, and promotes the …19… of their skills.  Considering learning styles, the …20… of the benefits is 

unquestionable. 

 

DIFFER   1………………… 

VARY   2………………… 

OPPORTUNE  3………………… 

MISTAKE  4………………… 

ABLE   5………………… 

WIDE   6………………… 

MAJOR   7………………… 

MAIN   8………………… 

WRITE   9………………… 

PRESENT  10………………. 

EMPHASIZE  11……………..... 

SPEAK   12………………. 

EXAM   13………………. 

TECHNOLOGY  14………………. 

EFFECT   15………………. 

ACTIVE   16………………. 

DEMONSTRATE  17………………… 

CREATE   18………………… 

DEVELOP  19………………… 

OBVIOUS  20…………………

Total points: …………./10 pts 
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READING COMPREHENSION 

Read the text and complete the task.  There are 10 phrases (A-L) missing from the article.  Decide 

which of the phrases (A-L) best fits into each of the numbered gap in the text.  There are two extra 

phrases. 

The grass-plot before the jail, in Prison Lane, on a certain summer morning, not less than two 
centuries ago, was occupied (1)___ of Boston, all with their eyes (2)___ the iron-clamped oaken door.  
The prison door opened and Mistress Prynne appeared (3)___. 
 

When the young woman – the mother of Pearl Prynne – stood fully revealed before the crowd, it 
seemed to be the first impulse (4)___ to her bosom; not so much (5)___, as that she might thereby 
conceal a certain token, which was wrought or fastened into her dress.  She took the baby on her 
arm, and with a burning blush, and yet a haughty smile, and a glance that would not be abashed, 
looked around (6)___.  On the breast of her gown, in fine red cloth, (7)___ and fantastic flourishes of 
gold thread, appeared the letter A.  It was so artistically done, and with so much fertility and 
gorgeous luxuriance of fancy, that it had all the effect 8)___ to the apparel which she wore. 

 
The young woman was tall, with a figure (9)___.  She had dark and abundant hair, so glossy that it 

threw off (10)___; and a face which, besides being beautiful from regularity of feature and richness 
of complexion, had the impressiveness belonging to marked brown and deep black eyes. 

 
 

(Nathaniel Hawthorne: The Scarlet Letter, adapted) 

 

A. of a last and fitting decoration 

B. by an impulse of motherly affection 

C. strolling up and down the room 

D. by a pretty large number of the inhabitants 

E. in front of the crowd 

F. surrounded with elaborate embroidery 

 

G. sunshine with a gleam 

H. to clasp the infant closely 

I. of perfect elegance on a large scale 

J. could sit down at a table 

K. at her townspeople and neighbours 

L. intently fastened on

 

Total points: …………./10 pts 
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LISTENING COMPREHENSION 

Listen carefully and circle the correct answers.  You will score five points. 

1 What is the topic of the lecture? 

A. The contribution made by female scientists to the world of science. 

B. The contribution made by male scientists to the world of science. 

C. The contribution made by male and female scientists to the world of science. 

2 What is the role of women in many of the major scientific fields? 

A. Women have played a significant part in many major scientific fields but are still under-

represented. 

B. Women have played a minor part in many major scientific fields and are still under-

represented. 

C. Women have played a major part in many major scientific fields and there are many women 

representatives. 

3 What did Rosalind Franklin achieve for medical science? 

A. She analysed the impact of X-ray imaging on DNA. 

B. She analysed the structure of DNA using X-ray imaging. 

C. She analysed the structure of DNA using ultrasound. 

4 What happened to her work? 

A. Three colleagues published an article with only a footnote on Franklin’s data. 

B. Three colleagues offered her cooperation. 

C. Three colleagues published an article without a footnote on Franklin’s data. 

5 What is the lecturer’s view of Franklin’s treatment by her colleagues? 

A. He appreciated the credit Rosalind Franklin got for her work. 

B. He thinks she deserved more credit for her work. 

C. He appreciated her colleagues’ attitude.   Total points: …………./5 pts 
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